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xr dYn log Y
−1.0 0.0270.25
−0.5 0.039 0.75
0.0 0.077 1.25
0.5 0.196 1.75
1.0 0.575 2.25



UG710−2A_2

0,25
  1,8

0,75
  3,6

1,25
  18

1,75
  90

2,25
 180

xy=log[Y]
Y

A2/A1 = 0.1716
A1 = 0.0197 A2 = 0.0033
A3 = 0.922 A4 = 1.811
Richter_D_PO4_027S
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y]

für unbunte Farben
in WN-Richtung

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0250.25
−0.5 0.038 0.75
0.0 0.08 1.25
0.5 0.212 1.75
1.0 0.629 2.25
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dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0290.25
−0.5 0.038 0.75
0.0 0.065 1.25
0.5 0.15 1.75
1.0 0.419 2.25


